{ Assingment 1}

- By : ‘Ahamd Dar Khalil’

To benefit from files that attached which are:

M:I sigadd
| sigfold
iﬂﬂgmuﬂ
| sigshift
”j stepseq

You must put them is the matlab current directory , then you can create script and use them
easily , here | will show the way to do that and simple example how to use them .

1- Open the matlab and write on the command window the following command :

Command Window

C:WUsersh 2hmady Documents\MATLAR

The path above is the path of your current directory .

2- Go the path was generated in the previous step and past the files on it like shown .

T . r ThisPC » Local Disk () » Users »  Ahmad » Documents » IVIATLAB\ v G Search MATLAB
A
MName Date modified Type Size
4 | myRand 9/18/20151:16 M File 1KB
— @ newton 7/7/2015 21:22 M File 1KB

Mj newtonMethod_function 7/2/2015 23:40 M File 1KB
P "I ofdpg 6/16/2015 23:55 M File 1KB
E| 4/26/2015 14:26 M File 2KB
3 5/22/201213:41 M File 1KB

jroup e I P . .
4 | sigfold 5/22/2012 13:41 M File 1KE
na @ sigmuit 5/22/201213:41 M File 1KB
E 1 sigshift 5/22/2012 13:41 M File 1KB
-i j stepseq 5/22/201213:41 M File 1KB
' Mj test 2/28/201517:52 M File 1KE

il Pane



3- Make new script by :

APPS EDMTOR PUBLISH
Find Files Insert s - - . 6_) %
(i ﬁ Ec?] nee ?fx ~ E Q L [=] Run section
=| Compare ~ Comment 96 &3 GoTo +
penSavelyma Yo 4% ud Iﬂ Breakpoints RunRJmandemandl%Mvm
- ~ = Prnt > Indent e |fa | Find = - - Time  Advance
FILE | EDIT | NAVIGATE | BREAKFOINTS | RUN |
veopen ~ AL E L 2 L o o B ® [QsFindFies ©
Current Folder [OM B Editor - C\Users\Dr.Ahmad\Documents\MATLAB\Untitled3.m 4
LML v PO e H 2 myRand.m ><| Untitled3.m ><| fgg.m x| sigshiftm x| sigadd.m x| sigmultm x| sigfoldm =
=
MName = i |
codegen ~
hw3
bl
hw5
slprj
untitled_grt_rtw
©o2m
) 353.m
) 456.m
) bl.m
ﬂ bisection.m
£ Bisecti B
fﬂ BisectionMethod.m Command Window ®
*| conv_m.m
) createfigure.m >> pwd
) 4022.m

4- Now, you can use all the functions directly on your script .



Simple Example :

Write matalb program the generate and plot the sequence :
Y(n) = x(n) + 2*x(n-2)

Where x(n)=[1-254]. n =0atx(n)=-2.

Solution :

met 5 B -+ > & S

Comment 56 22 B0 leaman | | e rnand e B Figure 1
| indent |; | pef i AFRd = | - | T Tme ANENC | o Edit View Inset Tools Deskiop Window Help
EDIT NAVIGATE | BREAKFOINTS RUN ——
50 B G oermne @ NEES Lk RAUDEL- I 0B |80
' = Editor - C:\Users\Dr.Ahmad\Documents\MATLAB\fgg.m
2 myRand.m ><| Untitled3.m ><|| fgg.m ><| sigshift.m ><| sigadd.m 10
1 imy =3ignal
A= ® = [1 -2 5 41:
3 8r
4 % array of the indecies o
El= n=-1:2 ;
3 61
7 % x1(n) = x(n-2) , nl is the indecies of x1(n)
Bl = [x1 , nl] = sigshift(x,n,2);
9 4t
10 %2 i want Zx(n-2) so just multiply by 2
11 = H1=wl1*2 :
12 al
13 % v (m) = x(n) + 2x(n-2) , vn it's indecies
34| = v , ny] = gigadd(x,n,xl,nl);
15 o
16 % plot ¥ and ¥yn
17 — stem(ny,v);
L -2 1 L 1 1 1 1 1
-1 0.5 i} 0.5 1 156 2 25 3
Command Window

And here is the source code :

%my signal
= [1 -2 5 4];

X

oe

array of the indecies
= -1:2 ;

ol

x1(n) = x(n-2) , nl is the indecies of x1 (n)
x1 , nl] = sigshift(x,n,2);

— 0P

% 1 want 2x(n-2) so just multiply by 2

x1=x1*2 ;
% vy (n) = x(n) + 2x(n-2) , yn it's indecies
[y , ny]l] = sigadd(x,n,x1,nl);

% plot y and yn
stem(ny,vy);



